Effectif

Effectif

Effectif

4
3

2

4

DS1

0

123 456 7 8 9101112131415161718

Notes

Moyenne : 6,7
Médiane : 5,7

DS 2

0

123456 7 8 910111213141516171819

4
3
2
1

0

Notes
Moyenne : 10,1
Médiane : 9,4

DS 3

123456 7 8 910111213141516171819

Notes

Moyenne : 7,2
Médiane : 6,6
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Notes
Moyenne : 8,1
Médiane : 7,1

DS 5

0123 456 7 8 910111213 141516171819
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Notes

Moyenne : 8,3
Médiane : 7,3

DS 6

123456 7 8 910111213141516171819

Notes

Moyenne : 8,0
Médiane : 6,4
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Moyenne : 7,5
Médiane : 7,6



